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sRe/Instructions

1. ot w5 =T IqL, ITL [RAHT H Bl [or@r Ty

Answers to all questions must be only in answer sheet.

2. ot sr wfaTd §1 el T 9T T ATA A7 Y F O q h 9ar T g
All parts are compulsory. The marks for each sub question to the main question has

been shown either before'or write such questionsl.

3. Wwﬁﬁw%mqﬁmwg,wwgmml

Some questions are with options-answer them accordingly.

4. WW%WW%WWW%FW%WWW%W&W
qfRershr a7 o oot 3 FREfT oft T & foreT e AT €

_Indlcation of the name or any other identity of the candidate either in the question
paper or in the answer paper except in the columns provided on the fly leaf of the

answer sheet is stricﬂy prohibited.‘ ‘

5. AeirqareT, AR aTeoRt ¥ ST ¥ g s &1

Use of calculator, logarithmic table is permitted/allowed.

6. aEgE woi F 9% forad ¥ f 95 RFfed SIX F w99 &7 ¥ 978, IT FeAl, I
FeerT, fHemr, ErT e, %ﬁﬁﬂwﬁmaﬂrwaﬁ%wﬁﬁwﬁaﬁﬁ
A TF I & ST TR Ay S
In the answer to the objectfve questions, no correction/s is permltted of any type like
cutting, . overwriting, erasing, scoring off a ticked answer in multiple choices and

ticking another answer and modifying the answer in any way. That answer will not be
evaluated. .



. WTF/Part- 1

T A/General Knowledge | 1.3%/mark x 20 = 20 siH/Marks

1) FATEHT & TSAATA FT A9 FT §7?
Who'is ther present Governor of Kai‘nataka?g
2) TR 3 AT IT TGS FT AT FTF?
Who is the present vice president of India?
3) g =0 & & ¥ foer s ATt A sy & g e
Which freedom fighter was called as Iron man?
4) HIT-H ET T AT TG F T A FT AT 872
Which city is called pink city? '
5) Gﬁqaﬁ . e =y FE?
What is the full form of GST?
B) WA § T T v At g audt 32
‘Which is the longest river flowing in -Ihdia? :
7) sreq % faferia 3% w7 3 fer og% Fr ST 87
Which city fs called as Silicon Valley of india?
8) e a&Y X FTO0T TSI MIR(FHEMLTH) T 4T 82
Across which river thé Krishna '-raja sagar (KRS) dam built?
9) w%%w@ﬁéﬁmﬁzwg?
In which Indian city ‘India Gate’ is located?
10) et St e A 22
W?\1ich is the capital city of Telangana?
11) T 7 anfaeere s $ie
Who invented Telephone?
12)@%&@@%#—373?
. Which is the biggest planet of the solar system?
13) adar & Lot Wt F -
Who is the present Railway minister?
14) FreT Heater fasr w7 2018 ﬁmﬁsﬁm’?
Who is the winner of FIFA foot ball world cup 20187
15) ‘iTl'{_cﬁ'ﬂ' ST 7 ST PR 49X FRT? Who drafted the Indian constitution?




16) T FIE=ROT 7 Frg=rr s grer 2T 8

Which controls the blood circulation?-
17) T T IS T AT 977

- Who was the first Mugal Emperor?
18)%%&@@%%%%%%3@#@?

-~ Which gas is used by green plants to make their food?

19) R <97 Y STET T 297 ¥ & § AT STrar 87

Which state is known as God's own country? -
20) e ¥ vy T 3 i i fRer 27

In which Indian state ‘Sun Temple’ is located?
HRT/Part-ll

arara ssf/General English o 2sF/marks x5 = 10 sfw/Marks

1. Write Antonyms for the following: (2-marks)
a) Uncomfortable ’
b) Against -
2. Write Synonyms for the following: (2-marks)
a) Wet | |
b) Abundant

3. Fill in the blanks with suitable words: (2-marks)
a) Sourav Gangulli is a --—----—--—- captain of Indian Cricket Team. (farmer / former)
| b) I could Not ==—=-mmm-- my friend in the office. (meetlmeat)
4. Write bast tense for the following: (2-marks)
| a)."drink‘ |
b) give _
5. Write plural for the following: (2-marks)
| a) Quantity
b) Leaf



w/Part-ll -

"reTh FFaT/Numerical ability . 1 siwfmark x 10 = 10 siF/Marks -

1.

%.50 & 50 &3 T FT A FT §2 The ratio of Rs.5 to 50 paisa?

a)1:10 by10:1  ~ ¢)1;100 d)100:1 -
. E AR G Y S T el 27

Two successive numbers which are prime numbers are?

a)‘2&3 .b)3&5 c)5&7 d)7&9

23,6 ATT AT --mmormmeee 427 2,3,6and 7 are —e—mm- of 42.

a) TUrF/multiples b) af/squreroot c) 9 &< /crLiber_oot‘ d) F<H/factors
fs 28 Teat Fi 35% &, Hear @l ?

If 35% of a number is 28. Find the numbef?

60 B0 . ¢80 )90
Siﬂﬁﬁ%ﬁﬁﬁrwaﬁﬁwﬁ@ﬁwﬁwwgl ﬁrmﬁww&‘ﬁ

ForerT &7

A square shaped wall of side 6m is to be painted in white. What is the total area

to be painted'?

a) 6d/m " b) 12 #/m ) 24+t/m d)36#/m
ATH A T AR SAte @a, foraeht g 40 #tex i =sTs 30 Hizx ¢) 98 ard

ﬁmmmmﬁmwmgsw@%mﬁmwﬁ%m‘

- fopa wfte Tt it sEeahaT TR

Shya‘m bought a rectangular plot of length 40m and breadth 30ﬁ1 He wanted to
fence his Iand using wires." How many metres of wires will be required for fencing
the piece of land? .

a)70d/m b) 1404Um ¢) 1200%¥/m d) 2400%t/m

g @R e uw & R § uw & g ¥ OF an we gF 9§ 4 o s

FHeT: 45 .9, 3w 55 ¥ Y. FEw Avoy & 97 ey g ¥ el 1, ARy Y ww A
FEH ISTU? ' ' '

‘Rahul.and vijay start walking tdgether from the same point in the same direction. -

If their steps measure 45cm and 55cm respectively then what distance from the
starting point will they again step together? |
a)100 Fft/cm b)495 ¥ft/cm c)2475 ﬁ:ﬁ/ém.  d)49.5 Ffiiem




8. g %. 1200/- 1< 12%%%%3ﬁﬁﬂﬂﬁ“wﬁmﬁwﬂ?ﬂw%mm
A |
Find the amouﬁt to be paid at the end of 3 years when principle is Rs.1200 at
12% per annum? _ : ' -
a) ®/Rs. 1632  b) ®/Rs. 1432 c) =/Rs. 1532 d) =/Rs.3600
9. TH =ARE ¥ TH W F T 144ﬁ%maﬁtnﬂaﬁr1o%ﬁgﬁ?r§§t G@rzo%g@ﬂaﬁ
- Ffe e E A Er dsEr aRe?

A person lost 10% when he sold goods at Rs. 1 44. For how much should he sell

them to gain 20%? , _

a) ¥/Rs. 176 b) ¥/Rs. 184 'c) ®/Rs. 192 d) %/Rs.206
10.@%%%111113&%3% a8 42% 99 a9ar § A e st ey v 377 39 @7

T T & T T P 4 37 -

A fruit seller had some apples. He sells 42% apples and still he has 377 apples.

Then how many apples he had originally?

a) 420 b) 550 c) 600 d) 650
HT/Part-IV
g TR Technical objective _ 1 sih/imark x 30 = 303/ Marks

1. R R w7 3 ST gid 27 Resistors are what type of devices?.
a) T=Ta A/ Unidirectional b) ITEsTaHAA«/Bidirectional
| o)7g RemerMulti directional o) FETENone
2. ST JETIH___ FEIATATH?

The pure form of semiconductor is calied

a) AT srd=Ter=/Intrinsic semiconductor b) o[ FETAHExtrinsic semiconductor
c) T w& N type | d) 1$ 921 none
3. SHEH, Wwéﬂﬁﬁm%mmw%?
In diode, what are the majority carners of n type semlconductor
a) sﬁ'n@rrr/Electrons | b) B&/Holes
¢) ger i ST }=/Electrons and holes d) #r§ 7t/ None



4. T i & AT @ AT AT 3 o 37
ina tréﬁsistor which region is heavily doped : ,
a) 3G Base ~  b)uf@eT Emitter o) F Collector - d) F7E 7 None
5. fafersia & — €raT 1 Silcon has | |
a) 5 ¥ Tagivi/valence electrons  b)3 ¥aw geaei/valence electrons
¢) 4 A<l Terai/valence electrons  d) 0 ¥« ToaEiwi/electrons

6. AIRUTH A1 &/ RAM stands for
a) ¥ev TR A/Random access memory b) §F T Tl/Read access memary
¢) Yo vaaHige AEl/Random accessible memory d) #¢ FHnone

7. e TR & ag o T 9 A AT ST FO ¥ v, ST S e
AT 87 -

To obtain very high input and output impedances in a feedback amplifier, the mostly

used is o | o
a) FTeew-4geT Voltage-series ~ b)yIdE™ ‘ﬁ@'ﬂT Current-series
c) Fleea-4iE Voltage-shunt | d) IFAT-4i= Current-shunt
8. sifeftsree &, ot oy ¥ Aefr ¥ smur A oo T
In oscillatbrs, the ratic of resonant ffequency to bandwidth is called
a) T[uTereT T Quality factor b) sr4fr st Resonating frequency

c) snafer smafer Oscillating frequency  d) #1 7%i None
9. THITFCT ST AT FETH T FLAHAT B
A device that-can act as éwitch is | o
a) =ifereeT transistor  b) =TAE diode | ¢) Wi resistor d) Eﬁ%?{ﬁf rone
10, wﬁ & 0010 3T 1100 31 11 Add the binary digits 0010 and 1100
a) 1000 b)1110 c) 0011 d) 0110
1, e ST e EaT gl Gate that performs mul’_tiplicatioh is__
a) T 7E/Not gate b) I T/OR gate
c) g fe/Nand gate .d) WﬁﬂE!AND gate
12. U Hfhe T TAF g1 A half adder circuit has |
a) UFHTAAA T AT YU e/ XNOR gate and AND gate
b) wEFwHATAR iz st e e /XOR gate and OR gate
c) THHL A< =T UuAET T /XOR gate and AND gate
d) #EE None



13, s v 4 e S T AT ok 1 e ST gt T

Receiving 4 bit data and transmitﬁng 1 bit dataris done by

a) <1 wedeRew</ De Multiplexer b) uTEY/Encoder
c) SFeyDecoder d) wer=ra/Multiplexer
14, wedifaset us __ Ramm? '
| Multivibrator is a device 7 o
a) T T T ST Two state device b) @ We1Z %7 291349 one state device -

Q) ¥ T 7 f2aTEE Three state device d) %1€ qginone
15. FrgeT fesired 77 % forg T YA T ST @
____-are used to design cou_nters“r _
a) =rgA< Timers ° ' b) THIEFT MUX
~ ¢) ffowAT Flipflops d) #1% 7 None
_16‘.@ﬁmﬁm%mﬁmmﬁﬁmwﬂﬁﬂ%mﬁﬂw%aﬂiﬁﬁﬂﬁmwﬁmﬁﬁ
B e ¢ et | - |

A register which is able to shift from left to right or from right to left and which can

perform all four operations is called _
a) Fi4T faree tﬁm/Léft shifi registers . b) gfa¥e TfSEre/Universal registers.
c) Wr=e forve TregR/Right shift registers d) for aﬁré-qr.ming counters
17. 2 e Al e e XA 3 7
 Acounter having 2 flip-flops can have ___ states ‘
2) 4¥STq/output b) 2 TEEToutput  ¢) 3 STIETToutput  d) F1E TEA None
18. At & §er ST STaT & S - T A & — B
In TDM the message is sent aﬁd received at different
a) WA ST/ Time interval b) smgi/frequency
c) fafa=wi/radiation - d) %IE TE/mone
19, STy 3 A Y arer X Y el T AT
The technique of separating signals in frequency is called
a) BT Aisrere=/Frequency modulation
b) 7=q feefisi wediwti¥ e/ Time division multiplexing -
c) hrEft fefisr wedri AT Frequency division multiplexing
d) I T21/ None '



20, ez wepe fme & Fefigr 3
- The Bandwidth of the amplitude modulated signal is
a) 4 THTE/fs b) 2 THUEAfs  ©)4 UHUHIM  d) 2 THA/M
21, fromr A RS | What does PAM stands for
a) T+ Uftaere H’Tgﬂ?{ Pulse amplitude modulation
b) T=e Terg Aieg@9M Pulse access modulation
¢) o Eferege Ategaie Phase amplitude modulation  d) #7€ 78 none
22 AT wigaer & R wteger forar T & |
In frequency modulation the signal is modulated
a) =T I phase angle  b) M Frequency  ¢) @141 both  d) #r§ TET none |
23. P wtearer # der Rorrer A & gataT ST & |
In which modulation_ the message signal is represented by codes
‘ tﬂmpwm b) fruuw PAM  ¢) fiffiua PCM  d) 1€ 761 None
o4, WX H, v terfier ar Refia F wer SwT U S ey g e # way
Tt st i P strerst 3 e & e YR qet 3 e g &

In radio, is the interface between radio waves propagating {hrough space and

electnc currents moving in metal conductors, used W|th a transmitter or receiver.
a) amtﬁa transm|tters b) eTa< towers ¢ UdET antenna d) g H@none
25, _a’gméa‘rﬁ‘gﬁaﬁﬁw éﬁﬁmﬁﬂﬂ@ﬂm%ﬁ%%ﬁm&m
GICESIE]

is the device that stores energy in a magnetic field when electric current flows

through it. -

a) I Inductor  b) &&TRT Capacitor . ¢) giﬁRTTransiétor d) wfaieft Resistor
26. Rreforfe & & A a1 v A A FvdT ¥ A A d |

Which of the following Alto D converter is fastest

a) TITATE Tisreha THTT Successive approximation,type b) 7 wF1< Ramp type

c) THIHIO T Integration type | d) TeT WehT<Flash type.
27. @Wﬁ?ﬁﬁmﬁmm%a‘r . m%mm@r%ma‘rﬁaﬁﬁaﬁ—a
& fi= frega st 1 A T 21

A transformer is a static electrical device that transfers electncal energy between two
or more circuits through _ induction. ,

a) faera gwrfra/ electromagnetic  b) &=/ electric
c) JaHrg /magnetic - d) 1§ 7 / none

J“_’.« N e ad - LR

Salg e W RS




28. R %o i St A P 2
Resister dissipates energy in form of
a) ¥ 91/ Light energy b) g #\'ﬁl Heat energy
¢) Ffwer w1/ Mechanical energy d) #E Fgi/none
29. TATHLF qaHT & wE FRT s g
Electric current is obtained from
-~ a) TR T s/ Movement of electrons b) S5/ holes | ¢) A=Y ions
d) #1% wEi/None '
30. feaTew St 3T & €I FCAHAT & ag g
The device that can store energy is

a) wuTRA capacitor  b) FFareT resistor '¢) T both d) ﬁ%ﬂ'ﬁl\ione

AT Part-V

TEEY FramiTechnical subjective 5 sF/marks x 6 = 30%%/Marks

Fafrfa & & T g 1 9w -
Answer any six of the following

%ﬁwwﬁw@maﬂrmﬁwﬁﬁﬁa%aﬁww

What is semiconductor? Explain difference between intrinsic and extrinsic semiconductor

2. ﬁ%ﬁtﬁﬁﬁﬁmm%?ﬁmﬁ;ﬁmmmﬁwmaﬁa%maaw@ '

What is CE and CB conﬁguration? explain with diagram using pnp transistor.

3. weretwrR Al ot 6 srear #87 Explain the different classes of amplifier?

4, e TR i AT 2 e e i e e w1 Rt ey
' Construct 2 input AND and OR gate with truth table

5. favevs et 3 art & aam gy ST auhT 7Y
State and explain Kirchhoff's laws?

6. m@ﬁ%%mwmﬁww%ﬁ%%mmmgﬁ%ﬂwmﬂ
rarsmarsl
‘What is truth table for NOT gate and implement using NAND gate‘?



7. SveT AT A A 3 TATE Reeec F A & weeET

Explain low pass and high pass filter

8. = ST A Y o 3 A et AT e T

Mention the differences between step up and step down transformer?

9. F) uwferegs AISTRAA AL 7o FIT Afegerard (Feftum) ¥ ar i o w3
a) Explain amplitude modulation and pulse code modulation (PCM).
) THTAT TR T 3T T F97 57 -

b} What is operational amplifier and rectifier?

10. %) FTIEC 30 TR 3 T H 0 7
a)- Expiain counter and register.
) TR FI-PA-H gl
b) What are FET.

*hkEL

Y TE A IO AR S AT e 0 GORA SR RS
FLULUTHWELDTERN BAILEAY



